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STAAR Review – Algebraic Thinking

	Scatterplots
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	Solve Equations by Intersections

To find the solution to an equation with variables on both sides, graph both sides of the equation and look for the intersection point. When solving for x, the solution is the x-value of the intersection point.
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4.       Solve the equation,                                      for the x-value.
[image: ] [image: ]

                                                                                                                        Intersection point: ___________            x = ________
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	Finding the slope and y-intercept of a line

	6.
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What is the slope of the line?  ______________

What is the y-intercept of the line? ___________

	7.
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What is the slope of the line?  ______________

What is the y-intercept of the line? ___________

	8.
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What is the slope of the line?  ______________

What is the y-intercept of the line? ___________

	

	Tables

	9.
[image: ]Tech Tip:
Graph each expression in the answer choices.

Use x instead of n.

Use Ctrl  T to view the table to see if the expression matches the sequence.
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If the weight of the bar without any plates is represented by the y-intercept, what is the weight of the bar?



	12. 
[image: ]Tech Tip:
For each of the answer choices, type the table in a Spreadsheet 
(New Document and then choose Lists and Spreadsheets.)

Insert Page and choose Data and Statistics page.

To find the equation, go to Menu Analyze  Regression Show Linear (mx + b)



	13. 
Problem:  Write the equation of the table below.
	x
	2
	4
	6
	8
	10
	12

	y
	10
	13
	16
	19
	22
	25




Three friends were studying for their math test.  They each had different ideas about how to answer the problem.  Each student’s answer to the problem is shown below.  
	Katy
	Ryan
	David

	
Slope =  and y-intercept = (0, 7)




	
Slope =  and y-intercept = (0, 7)





	
Slope =  and y-intercept = (0, 7)






· Who is correct? Why?



· How would you help the friend(s) that calculated the problem incorrectly?






	Write and Solve Equations

For each word problem, write an equation and then solve the equation.
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	Points of an Equation

Remember to use your calculator wisely!

Remember: the table, list of ordered pairs, graph, and mapping are all different views of the same information.
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[image: ]Tech Tip:
Graph the equation.

Use Ctrl  T to view the table to see which list of points is the answer.
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[image: ]Tech Tip:
Graph the equation.

Use Ctrl  T to view the table to see which list of points is the answer.

Remember, the table, list of ordered pairs, graph, and mapping are all different views of the same information.


	

	Direct Variation (Proportional Situation)

If y varies directly with x, it means y is proportional to x.  Write and solve a proportion.
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	Points on a Graph

[bookmark: _GoBack]Count the slope of the line and continue in the same pattern. In this example, from one point to the next, count up 4 and to the right 1. Continue the pattern for 5, 6, 7, and 8 flags.
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	Write Equations from Word Problems AND Write Word Problems that match an Equation
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	Is it a Function?

Are the x-values unique?  If yes, the data represents a function.

Does the graph pass the vertical line test?   If yes, the data represents a function.
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Which of the following graphs best represents a system of equations that has no solution?

T~
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The graph below shows the relationship between the number of dollars a worker earns and
the number of hours worked.

Worker's Earnings

Amount Earned ($)

0 4812162024283236
Time Worked (h)
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The graph shows the time it took a worker to package 16 bottles of shampoo.

|packaging Shampoo Botties

55

14

Number of Bottles.

5 1015202530 354045 50
Time
(min)
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The table shows the playing time in minutes of high-definition videos and the file size of these
videos in megabytes (MB).

Videos





image10.png
The first five terms in a pattem are shown below.
~0.5,-0.25,0,0.25,0.5, . ..

I the pattern continues, which expression can be used to find the nth term?

A 0.75n-125

B —0.25n-025

€ 0.25n-075

D —0.50+0.25
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The dishwasher at a restaurant is loaded with the same number of dishes every time it
used. The table below shows the total number of dishes washed as a function of the number
of times the dishwasher is used.

Restaurant Dishwasher

Number of Total Number of
Times Used Dishes Washed

—— T = |
I T

Based on the data in the table, what is the total number of dishes that will have been washed
'when the dishwasher is used 9 times?




image12.png
A weightlifter is adding plates of equal weight to a bar. The table below shows the total
weight, including the bar, that he will lift depending on the total number of plates on the bar.

Number of | Total Weight
Plates.

(Ib)
—— T 5 ]
I
| s 1 35 |
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Which tabie shows the same rteofchange oy wth espec 10 x 35 = 4 - 37
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image21.png
A painter charges $35 per hour for labor plus $40 for a ladder rental when he paints a house.
The customer provides the paint. The total charge to paint a customer’s house was $950.
How many hours did the painter spend painting this house?

F o122n
3

G 28h

H 23n

3 Not here
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1ty = —2x— 2, wnat s the value of x wnen y = 97
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A student bought concert tickets online. The total cost, c, in dollars, of ¢ tickets can be found
using the function below.

©=24.50t +9.50

If the student spent a total of $83 on tickets, how many tickets did he buy?
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Which set of ordered pairs contains only points that are on the graph of the function
y=12-3x?

A {(=3,-27),(0,0), (6 54}
B {(-18,10), (-6, 6), (18, -2)}
€ {(-5,27),(-1,15), (8, ~12)}

D {(-7,-9), (=4, 0), (2, 18)r
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Which representation shows the same relatonship 25 g(x) = $(6x +3)?

x 90x)

<





image26.png
‘The mass of a substance varies directly with the volume of the substance. The volume of
100 kilograms of the substance is 80 liters. What is the volume, in liters, of 3.2 kilograms of
this substance?
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‘The graph shows the cost of purchasing x small flags at a gift shop if the flags are equally
priced.

, Gift Shop

=
19

18
1 .
16
15
14
13 .
12
1n
10

Cost (dollars)

.

L
0 1234
Number of Flags

Based on this information, which ordered pair represents an additional point on the graph?
A (519

B (8 34)
c (624
D (7,29




image28.png
An architect Is designing an office building with n floors that will have an FM radio antenna
15.85 m tall on its roof. Each floor of the building will be 3.9 m high. Which function can be
used to find the total height of the bullding in meters, including the FM antenna?

A h(n) = 15.850 +3.9

B h(n) = 3.9n +15.85

c h(n) =3.9n-15.85

D h(n) = 19.75n
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‘The cost of staying at a hotel can be found using the function y = 129x +9.95, where x is
the number of days a guest stays at the hotel and y is the cost in dollars. The cost includes a
flat fee for Intemnet access. If the fee for Internet access is not included, which statement is
true?

A The costis $9.95 less per day.
B The costis $9.95 less.

€ The cost is $9.95 more per day.
D The cost is $9.95 more.
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An online music service lets customers download an unlimited number of songs for $0.25
‘each after paying a monthly membership fee of $5.00. The total amount of money 3 customer.
spends on music in dollars in a single month can be found using the function y = 0.25x +5.
What does the variable x represent in this function?

F The total amount of money the customer spends on music each month
G The number of songs the customer downloads each month
H_ The number of customers that use the music service

3 The cost of downloading one song
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A teacher will determine the total number of books to order for a dlass using the function
b(n) = 4n, where n represents the number of students in the class. What is the independent
quantity in this situation?

The number of students in the class
The total number of books to order

The number of books each student needs

“ T o m

Not here
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Which situation can be represented by y

2x — 47

‘The number of eggs, y, in x dozen eqgs for sale after 4 dozen eqgs are sold
The cost, y, of buying x movie tickets that sell for $8 each
The cost, y, after a $4 discount, of buying x T-shirts that sell for $12 each

o 0 = >

The number of inches, y, in an x-foot-tall tree after cutting off 4 feet
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Which graph does not represent y as a function of x?
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‘Which set of ordered pairs represents y as  function of x?
A {(-9,2,0,6), (-2, (-3,6}

B {(-1,0),@3), (-7, -3), (-1,-8))

€ (G2, (-4, -2, G, 1, (-4,0}

D (G4, @3, L1, @4a)
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A dentist made the scatterplot below to show the number of cavities her patients had as it
relates to the number of times they flossed their teeth each week.

y Cavities and Flossing

Number of Cavities
hN W s n o

0 1 2 3 4 56 7 8

Number of Times the Patient
Flossed Each Week

Which of the following best describes the correlation for the data?

A Positive correlation C Negative correlation

B Nonlinear correlation D No correlation
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The scatterplot shows the number of free throws that different basketball players attempted
and the number that each player made.

Free Throws

80
70
60
50
40
30
20
10

Free Throws Made

o 10 20 30 40 50 60 70 80 90
Free Throws Attempted

Based on the trend in the data, approximately how many free throws would a player be
expected to make if he attempted 60 free throws?

F 50
G 35
H 25
J 60
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‘The scatterplot shows the relationship between the distance that students traveled to get to
school and the number of times those students were tardy during the school year.

Distance and Tardiness

10

Number of Times Tardy

o 05 10 15 20 25
Distance Traveled (miles)

“The principal of the school wants to use this information to help him determine If there is a
correlation between distance traveled and the number of times tardy. Which statement is a
reasonable conclusion that the principal could make?

A A student who travels 1.5 miles to get to school will be tardy 9 times during the school
year.

B A student who travels more than 3 miles to get to school will be tardy at least 7 times
during the school year.

€ There is no correlation between the distance a student travels to get to school and the
number of times the student will be tardy during the school year.

D There is a nonlinear correlation between the distance a student travels o get to school
and the number of times the student will be tardy during the school year.
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